Worksheet
9/24/2018

1. Determine if each of the following matrices is in row echelon form (write R), reduced row
echelon form (write RR), or none of these (write N).

(a) (f)
1 2 3 00 0
010 00 0
00 1 010
00 0
(b)
1 2 3 (2)
00 1 0O 0 0 0
00 0 0 0 1 2
0000
(c)
1 -1 0 (h)
00 0
0 0 1
0 0 1 000
00 0
1
() 00
1 0 0 1 (1)
0200 0 0 0 0]
0010 00 0
0000 0001
(e) () ] )
00 1 000 0
010 000 0
00 0 0 0 0 0]

2. Reduce the following matrix to reduced row echelon form

2 4 10
A=13 0 1 2
1 -4 0 1



3. Solve the following system

T+ 2y+ 3z
T —2z
20+ 3y + =2



